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The objective of this study was to compare the increasing of production capacity of an
automotive bulb factory between (1) adjusting of the production lines for more flexibility and (2)
purchasing more machines to be added at bottlenecks. This study included 3 production lines of
the factory. They were the production lines for (1) tubular head lamp bulb diameter of 19 mm (2)
parabolic head lamp bulb diameter of 30 mm and (3) globular signal lamp bulb diameter of 18
mm. According to the demand forecast until 2005, the demands for the 3 production lines were
630,000, 40,000 and 320,000 units per month, respectively while the present capacities were
440,000, 480,000 and 470,000 units per month. Therefore, the future demands would not right
according to the forecast. The 2 methods of capacity increasement mentioned above were
analyzed. For the 1st method, the investment was B710,428 to adjust the lines 2 and 3. After
adjusting, there would be B829,951 more profit. The break-event point for this method was
198,999 units and the internal rate of return of about 498% with the length of the project of 3 years
and the flexibility of the process of about 0.67. For the 2nd method, the investment was
185,220,000 to purchase 4 machines to be added at the bottlenecks, adding B777,047 more profit
per month. The break-event point for the 2nd method was 1,445,983 units and the internal rate of
return of about 78% for the length of the project of 3 years and the flexibility of the process 0.50.
The present production net profit was B1,190,667 per month with the flexibility of zero.

Therefore, the adjusting method was the selected one between these two comparcd methods.





